BREEGE20E [ ANCEE| V42T ANREELKY

HE (KR BDEERKE) S
MR HERN vor<Les
ot HWPRRo A"
e BV Ve
BQowNY—9Q F 1

XL mPer’

B

EAREREETEHRIHR
®iE/BER.EHET. BETE SRR, ZB N
“HRTRBHMX

e/ —RAE
550



HhEEIE (& 8] BEENICEEREEY - BFELTVDA

[E @] TIEHTHULLABT. AEBYPHILEHFREDNE > TVDDD,
AS—XEFE/270. FIINE (IhBEDIRFE UTCARRRDIERICBRI FI, )

[ « X] PUDH) (305%X254) -Ad DA REREAD

(= 0 #B] R GRFCERiEdHn)

U6 5 5 &l FRIEICTOREE (I—XIFEF) EERE@ICAEY. PEEEEXNFRFS LTI,
T420-0853 BaMH=OEFHI2-12 BELE/ \Y<EIL7F
(—H)BEERELTSEEMHBR[ IV T AR TEL 054-255-8931

(= =1E @ - /S=)UIEY - 81fiEY) - I5—Y 1% T UfERIEATE LET,

@ HEERIFEBE LIEAADDBDICRY FT,

@ HEERIFREIE UL TORAWVWELEBAD, RHFLEDHIG, HEE(ORAFLEEBAKOD F.
RS A UTORIERHEEICYF 2 ) M3 TEF L TR0,

@ BEELWEERED NS TIVIC DV TEHEE F—UEEEAaVEEA,

@ \EERDIIE - PTBHIE - FHE - ZEEGTEEBICBULEI,

@ EFTANIBEBELET,

B SH6E118308 (MEHBEED)

BEZER /0 RH GEEXMEEMAZ2ERR)
BEZE —RuEDEIABHERELSEIBENZETSIEEZE (BEHD)

=1 & = T/ BR-B% 550 2 4 B EBFE1S BRILH-R2AM
iR = 258 BR-BE 35[0 £ E18 BR-IFTH—R1EA
i = 35 BR-B2 15[ +EHREE EFE1S BER-E22 3750
BE_RE BIX - BR * E2m BRR-8% 150
ERETE BIR-BR A %= 208 B
£ x HW7E1H ABARENVIGES CEEICTERILET .
® & X 738 HBEHHRFY v S U—CCHETE (FRERMEE)

(—iRAEE NSRRI SR R]

SpRE. BERHNBEOEREZRIICRELTEERZRELITHERT. BIHN43FICHEIAAE LTRITSN, BH624F(CHE
BMEBELU. PRHAFIC—RATEANERBRVE UTc. BREYDERE - EEEBOESUECEHD L EDIC. BEYDOLZE2MRT
GEEOE EZRY ., REOFEUDBECTFS5I2IEZENEULTVET,

FREEE LT, BRIBHAOEFOBILFEENREBFERE. F5F - BEEBICHIT BRI, SOEN. BRYDME
PR UMRICET D RIMARMRUTFEEBDZFE. FEISUNDRSEHERNBGE. SRERFTHGRLEEBL TERLTL
FI. Ffo. B PE. AEO=ZWOMEEBEBBHICITOTVERT . INSDFIRRFF. R—LR—ITFL BN
LCTWEIDTEIFTE TS L. http://www.shijikyo.or.jp

T420-0853 BEMEXEFHI2-128EARH/N\SVYEI7F (—i)BESERETEHABSR TEL:054-255-8931 FAX:054-255-8955

T T
| |
| |
~ )= S ! ~ )= > ! S~ )= ~
gg26m JARIVTAMNSER| ¢ | 5260 AN IVFTAMNSER| ¢ | 5260 AR IVTANGER
JUHF i JUHF i JUHF
w2 = s = s
| |
BEET i BT i BEET
| |
| |
| |
TJUHF : JUHF : JURF
| |
E % B - A -
| |
| |
EEEs  |=mss  |=mas
| |
| |
T - : T - : T -
(P e e
| |
| |
6 TR e o TRl P & VR P
| |
sl B = TERRE | I TERRE | sl 2= TERRE
| |
| |
| |



